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1. Audio-visual aids should not
[A] be helpful in achieving objectives
of teaching

[B] be attractive and full of
illustrations

[C] disturb the child mentally

[D] make learners interested

towards learning
[E] Unattempted

2. “Teaching is a relationship which
keeps the child to develop all his
powers.” — Whose view is this?
[A] Ryburn’s view
[B] Burton’s view
[C] B.D. Smith’s view E%
[D] Keynes’ view O
[E] Unattempted

3. Which Amendment to the Indian
Constitution made Right to
Education as a Fundamental Right?
[A] 86th [B] 101st
[C] 81st [D] 95th
[E] Unattempted

4. Which approach to school leadership
focuses on transforming the school
and its culture by empowering
teachers, students and other
stakeholders to engage in shared
decision-making and continuous
improvement?

[A] Instructional leadership
[B] Transactional leadership
[C] Distributed leadership
[D] Transformative leadership
[E] Unattempted

5. Under NEP, the number of
instructional hours in an academic
year for class 8 is
[A] 800 [B] 880
[C] 1020 [D] 1000
[E] Unattempted

6. According to Burton’s view
[A] teaching is a relationship
[B] teaching is an art
[C] teaching is the

learning
[D] teaching is wastage of time
[E] Unattempted
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11. According to

12. Which of the foll
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is the last Minister of MHRDp

7 ando the first Minister of Education?
[ Al Pi}'usb Goel
Bl Kapil Sibbal
[C] Ramesh Pokhriyal
[D] Jairam Ramesh
Unattempted

8. Under Right of Children to Free &
Education Act, a school for classes
6 to 8 should be established Wwithin
a walking distance of
the neighbourhood.
[A] 1 (B] 2

ameg s of
Eim

c] 3 [D] 4

{E]I Unattempted ’E:}%

9. When did the Right of Children to Free
and Compulsory Education Act, 2009
come into force?

[A] 1 April, 2009
[B] 1 March, 2010
[C] 1 May, 2010
[D] 1 April, 2010
[E] Unattempted

10. In which year, the Right of Persons

with Disabilities Bill was passed?
[A] 2016 [B] 2012

[C] 2005 [D] 2010

[E] Unattempted

Freud’s theo of

psychgsexual development, rghich

stage is characterized by a focus on

t}l;ne mouth and oral activities?

{[C} g;a:l sttage [B] Phallic stage
Stage [D] Genital st

[E] Unattempted : Y

owing is not one of the

conditions that the Right to Education

a;ct of India sets out?
(A] ‘g‘es!.chers_ must be properly
famed in order to teach in

B State schools
SS(l:leldents must be provided with
olarships to attend private
(@ schoolsg
I Thﬁ‘ State is responsible for
Ell;?l\gdmg schooling to every
Schools must not turn down
any student for admission into
a schog]
Unattempted
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13. The incorporation of minerals by

microbes is called
[A] mineralization
[B] humification
[C] nutrient immobilization
[D] microbe immobilization
[E] Unattempted
14. The burning of wastes is not an
acceptable practice of solid waste
management because
[A] it is very costly
[B] it requires a lot of space
[C] it requires modern technologies
[D] it causes several environmental
issues
E] Unattempted
Which of the following gases are
main contributors to acid rain?
[A] Carbon dioxide and carbon
monoxide
[B] Sulphur dioxide and carbon
dioxide
[C] Sulphur dioxide and nitrogen
dioxide
[D] Sulphur dioxide and nitrous
oxide
[E] Unattempted
16. Which of the following can be
found as pollutants in the drinking
water in some parts of India?
I. Arsenic
II. Sorbitol
III. Fluoride
IV. Formaldehyde
V. Uranium
Choose the correct answer
|A] 1 and I
B] II, IV and V
[C] I, 1 and V
[D] All of the above
[E] Unattempted

15.

17. The Grand Canyon is located on the
[A] Colorado river
[B] Rhine river
|C] Tapi river
[D] Niger river
[E] Unattempted
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18. The importance of ecosystem lies in
[A] cycling materials
(B] flow of energy
[Cc] Both [A] and [B]
[D] None of the above
[E] Unattempted

The major cause of extinction of

19.
species today is

E.:JE

sk

[A] habitat destruction
[B] global warming
[C] predation
[D] greenhouse effect
[E] Unattempted

20. The first International Convention
on environment was held in
[A] New Delhi [B] New York
[C] Stockholm [D] Geneva
[E] Unattempted

21. In nitrogen cycle, soil nitrates are
transformed into free nitrogen by
[A] nitrifying bacteria
[B] denitrifying bacteria
[C] ammonifying bacteria
[D] Both [A] and [C]
[E] Unattempted

22. ;)Nfl;r;h range of wavelength is called
[A] Less than 400 nm
[B] More than 700 nm
[C] 400-700 nm
[D] Less than 200 nm
[E] Unattempted

23. Which is the State bird of Haryana?
[A] Peacock
[B] Swan
[C] Black Francolin
[D] Owl
[E] Unattemptéd
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24. Which city of Haryana is known as
the city of pools and ponds?
[A] Yamunanagar
[B] Kaithal
[C] Narnaul
[D] Sohna (Gurgaon)
[E] Unattempted

ayer got a place

. Which Haryanvi pl
n < e Women’s World

in Under-19 T-20
Cup team declared by 1cc?

[A] Shefali Verma
[B] Shweta Sehrawat
[C] Parshvi Chopra
[D] Anu Yadav

[E] Unattempted

26. Which Haryanvi has won the title
of ‘Tronman’ of the World?
[A] Sachin Kadyan
[B] Vinod Dhayal
[C] Rahul Turan
[D] Naresh Kunwar Singh
[E] Unattempted

27. Which city was founded by Firoz
Shah Tughlag in Haryana?
|[A] Tohana [B] Hisar
. [€] Bhiwani [D] Gurgaon
[E] Unattempted

28. Who among the following was the
ancient poet of Haryana State?
[A] Vishnudutt
[B] Baldev Raj Shant
[C] Both [A] and [B]
[D] Veerbhan
[E] Unattempted

29. Which district of Haryana is not
bordered by another State?
I. Jind
II. Rohtak
1. Jhajjar
Choose the correct answer
[A] 1I only
(B] I and III only
[C] 1T and I only
[D] 1 and II only
[E] Unattempted
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30. At which of the following places of
Haryana the Mahabharata battle was

fought?
[A] Panipat [B] Karnal
[C] Ambala [D] Kurukshetra

[E] Unattempted

31. Which among the following parts of
the Indian Constitution deals with

the official languages in Articles
343 to 3517

l/’[ﬁ] Part 17th  [B] Part 18th
[C] Part 15th  [D] Part 16th

[E] Unattempted vl

32. Who appoints the members of the
State Public Service Commission?

[A] The Chief Minister of the State
[B] The Governor

[C] The President on the
recommendation of the Governor

[D] The Prime Minister on the
recommendation of the Governor

[E] Unattempted

33. Whjc_h of the following trees is
growing everywhere in the
Faridabad district? [Besides other
uses, lopping this tree is used as
fodder for cattle during winter.]
[A] Jand [B] Kikar
[C] Peepal [D] Kher
[E] Unattempted

34. What is the aim of the Gauvansh
ianrakshan and Gausamwardhan
ct?

[A] For conservation and
development of indigenous cattle

[B] To kil and the
uneconomic cows

destroy

[C] To keep and care the injured,
stray and infirm cows

[D] None of the above

[E] Unattempted
T-8/8-B

30. =1 & A ghann ¥ frg = w TETE W

g <81 T Ay

[A] Wiy [B] #wme
CR L
[E] stwnfee

31. 1 # ¥ wrdl dfm w1 w-w O,
T2 343 ¥ 351 #, TorIai ¥ Pge
27

EEE Ay w17
E'% [c] "’ 15
[E] sanfea

32. mmhm%m@mm
BT R?
[A] T % e
{BY" =T
[C] U= & argwEr W ugfa
[D] Tsa9e it Igwim | wuEEh
[E] atsanfaa

33. F=r # & F-m 3w Wik f@ § v
I 7 [GR I F s, @ ogw

[B] 9 18
[D] W% 16

o /el it 3 vyl % W H ww s )
W [B] Frt/aqet

[C] e [D] @@t

[E] srmnféa

34. MW Fww @ dads e w5 st T
27
(A] 2 mfEt =1 wEw sk fem s
[B] e TR H AR IR REm e

[ef” amed, IEM wW duR TR w o
T @I HE

D] 3&® 4 ¥ #r &
[E] arwnfia
[P.T.O.



e

st which ruler did a rebellion

. Again _
- in the Gohana region?

break out
[A] Balban
[B] Firoz Shah Tughlaq
[C] Babur

[D] Alauddin Khalji

[E| Unattempted

EAE

p worn by men in Haryana

36. The ca
is called
[A] Torah [B] Muretha
[C] Turban [D] Khandwa

E] Unattempted

37. Haryana Mukhyamantri Antyodaya
Parivar Utthan Yojana has been

launched

[A] to provide benefit, transfer of
payments

[B] for planting new orchards,

subsidy amount for guava,

lemon, amla

[C] to provide identification of
families through Parivar
Pehchan Patra (PPP) data or
Family Id.

[D] None of the above

[E] Unattempted

38. Which ruler built the Gujri Mahal

in Hissar, Haryana?

[A] Feroz Shah Tughlaq

[B] Ahmed Shah Abdali

[C] Aurangzeb

[D] Akbar

[E] Unattempted

39. Which type of soil is mostly found

in the plains of Haryana?

[A] Pale brown fertile soil

[B] Rocky soil

[C] Sandy soil

[D] Sandy clay soil

[E] Unattempted
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40. Match List-I and List-II.

List-I List-II
(a) First Battle of Panipat (i) 1761
(b) Second Battle of Panipat (ij) 1739
(c) Third Battle of Panipat (iii) 1526
(d) Battle of Karnal (i) 1556
Select the correct answer using the
code given below :

[A] (a)-(idi), (b)(iv), (c)-(), (d)-(i)
[B] (a)-(iii), (B)}-fi), (c)-(ii), (d)-(iv)
[Cl (a)(i), (b)(id), (c)-(ii), (d)-(iv)
D] fa)-(i), (b}fi), (c)-(iv), (d)fiii)
[E] Unattempted
41. _Wh:'ch is the oldest and most
important canal of Haryana?
[A] Gurgaon Canal
[B] Bhiwani Canal
[C] Bhakra Canal
[D] Western Yamuna Canal
[E] Unattempted
42. The Battle of Ten Kings was fought
on the bank of which river?
[A] Ravi [B] Saraswati
[C] Jhelum [D] Beas
[E] Unattempted

43. & The given sign represents

[A] left hand curve

[B] left ascend

[C] left reverse bend

[D] left overtaking allowed
[E] Unattempted '

44. CMVR stands for

|A] Central Motorised Vehicle
Rules, 1988
[B] Central Motor Vehi
ehicle Rul
1988 2
[C] Central Motor Vehi
cle Rul
1989 -
[D] Central Motorised Vehicle
Rules, 1978
[E] Unattempted
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45. What is/are hurdle

46.

47.

48.

\/IBA] NIOS
[C] NVS

49,

50.

(s) in road safety?

[A] Negligence by civilians ]
[B] Pathetic condition i.)f roads
[C] Unsafe vehicle design

[D] All of the above

[E] Unattempted

‘ﬁk The given sign shows
~

y

[A] guarded railway crossing‘
[B] unguarded railway crossing
[C] road crossing

[D] None of the above

[E] Unattempted .
Narrow arrow road sign is normally
found in

[A] rural areas

[B] urban areas

[C] city areas

[D] None of the above

[E] Unattempted

Which of the following serves students

/learners through a network of
tudy centres, all over the country?

[B] NTA

[ID] KVS

[E] Unattempted

What is the ratio of Central

for
Government - NE States fund
implementation of RTE Act 2009?

[A] 50:50 [B] 90:10

[C] 65:35 [D] 68:32

[E] Unattempted

In our present society, where
values are deteriorating, the

excellent education will be which

[A] enables one to earn in an easy
manner

[B] exaggerates the competition in

the society
[C] works for establishment of

human and cultural value

[D] decelerates the social change
in society

[E] Unattempted
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49. RTE ffm 2009 @r] & F T S
T - S T & B ST R

(B] 90:10

[A] 50:50
[D] 68:32
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51. Which fiber is known for its high

52.

53.

54.

55

57.

. Extension

elasticity and ability to retain its
shape even after repeated washing
and wearing?
[A] Cotton

[C] Spandex

[E] Unattempted

Which fiber is known for its warmth
and insulation, but alsoc has a
tendency to shrink when exposed
to heat and moisture?

[A] Cotton [B] Polyester

[C] Wool [D] Rayon

[E] Unattempted

Which type of finish involves adding
a layer of wax or resin to a fabric
in order to make it water resistant?
[A] Sizing [B] Singeing

[C] Waxing [D] Mercerization
[E] Unattempted

Which of the following is the
traditional dress worn by Bhutanese
women?

[A] Kira

[C] Hanbok

[E] Unattempted

What is the traditional dress worn
by men in Austria?

[A] Dirndl [B] Cheongsam
[C] Lederhosen [D] Hanbok

[E] Unattempted

[B] Wool
[D] Acrylic

[B] Kimono
[D] Cheongsam

Education s closely
related to which other discipline?
[A] Computer Science

(B] Environmental Science

[C] Political Science

[D] Social work

[E] Unattempted

Community Development refers to

[A] the process of building a
community's  economic and
social infrastructure

[B] the process of gentrifying a
neighbourhood

[C] the process of
neighbouring towns

[D] the process of creating a gated

annexing

[D] @iy whads # dfim w8
[E] 3wy

E]
T-8/8-B
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Unattempted
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58. Which of the following is & key
feature of extension education?
[A] It focuses solely on providing
formal education
[B] It requires individuals tc? have
a high level of education to

participate .
[C] It utilizes non-formal education
methods
[D] 1t only focuses on rural
communities

E] Unattempted

59. Home Science includes the study of
[A] Geology [B] Psychology
[C] Entomology [D] Zoology
[E] Unattempted

60. What is the history of Home Science?
[A] It is a modern discipline that

emerged in the 20th century

[B] It has its roots in the 19th
century women’s education
movement

[C] It has been practiced for
centuries by women in
households

D] 1t was developed by the

agricultural extension services
in the mid-20th century

[E] Unattempted
61. Why is there a need for extension

education in Home Science?

[A] To promote the study
domestic tasks
To provide advanced education
to homemakers
To disseminate information and
skills to the wider community
[D] To reduce the importance of

household management

[E] Unattempted
62. What is community development in

the context of Home Science?

[A] The process of modernizing
traditional household practices
The study of rural communities
and their needs
The process of empowering
communities to improve their
well-being
[D] The study of urban communities
and their needs
Unattempted
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63. Which vitamin helps
absorption?

[A] Vitamin A
[C] Vitamin D
[E] Unattempted

in calcium

[B] Vitamin C
[D] Vitamin E

A Khicl:l mineral is important for nerve
nction and muscle contraction?
[A] Calcium [B] Potassium
[C] Magnesium [D] Sodium
[E] Unattempted

65. Which of the following is not a
water soluble vitamin?

|A] Vitamin Bg [B] Vitamin C

[C] Vitamin D [D] Vitamin By,
[E] Unattempted

66. l\:"ehltc;:)e tgsztﬁfe sﬁ:'; is considered to
[A] Saturated fat

[B] Trans fat

[C] Monounsaturated fat

[D] Polyunsaturated fat

[E] Unattempted

Which
functio
body?
[A]
(B]
(e

67. of the following is not a

n of carbohydrates in the

Providing energy
Building muscle
Regulating blood sugar
D] Supporting brain Jjunction
[E] Unattempted

Which of the following s
example of a complete protein?
[A] Lentils [B] Quinoa
[C] Tofu [D] Eggs

[E] Unattempted

68.
an

69. Which of the following is net a

consequence of consuming
much sodium?

[A] High blood pressure
[B] Dehydration
[C] Increased risk of heart disease
[D] Weight gain
[E] Unattempted
T-8/8-B
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70. What

[A]
Bl
€
El
71

(A)
Bl

Which of the foll
of lactose intolerance?

function of the

is the & the di gesti\'e

pri
small intestin€

system?

Absorption of nutr}ents
Mechanical dige‘,stlon
Chemical digest.lon
Production of bile

Una.ttcmpted

owing is @ symptom

Constipation
Abdominal cramps

€] Diarrhoeah
[D] Weight gain
[E] Unattempted

72, Which of the

following is not a

therapeutic diet?
1Al Low-fat diet _
B] Gluten-free diet
[C] Ketogenic diet
[D] High-sugar diet
[E] Unattempted

73. Which of the following is not 2

component

of gastric juice?

[A] Hydrochloric acid
[B] Pepsinogen

Ic] Bile
D] Mucus

s

[E] Unattempted

74, Which of the

following is an

example of energy conservation in
a household?

[A]
[B]
[
(D]

[E]

75. Which of the

Keeping lights on in empty
rooms

Running the dishwasher only
when it is full

Using the clothes dryer instead
of hanging clothes to dry
Turning up the heat when it is
cold outside

Unattempted

is

following an

example of a family resource?

(Al
(€]
[E]
T-8/8-B

[B] Time
[D] All of these

Money
Energy
Unattempted
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76. Which of the following is an

example of a fixed expense in a

family budget?

[A] Groceries

[B] Clothing

[C] Rent/mortgage

[D] Entertainment

[E] Unattempted

What are the different types of

savings a family can have?

[A] Short-term and long-term savings

[B] Checking and savings accounts

[C] Fixed and variable savings

D] High-risk and low-risk savings

[E] Unattempted

What are the three main resources

that are important in home

management?

[A] Time, energy and money

[B] Time, food and water

[C] Money, food and energy

[D] Money, time and health

[E] Unattempted

At what age do most children begin

to develop a sense of self-identity?

[A] 1-2 years old

[B] 3-4 years old

[C] 56 years old

[D] 7-8 years old

[E] Unattempted

Which of the following vaccines is

recommended for all children by

the Centres for Disease Control and

Prevention (CDC)?

[A] Measles, Mumps and Rubella

[B] Varicella (chickenpox)

[C] Hepatitis B

[D] All of the above

[E] Unattempted

81. Which of the following is mot a
factor that influences a child's

temperament?
Eim
S

79.

80.

[A] Genetics

[B] Parenting style

[C] Cultural background
[D] Socioeconomic

[E] Unattempted
T-8/8-B
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82.

83.

85.

86.

87.

the following js not 2 risk
ild abuse?
gt by the parent

Which of

factor for €

1Al substs.nt'{ﬁ abuse
or ca;gg,wer

tal education
High levels of paren’
I[E]] le:};esﬁc ence in the home
12} Unattempted
ch of the follo\?"ing
factor 10

viol

) is not a
Whi successful
common

marriages? o sy
Iﬂ] Good cammu]'ﬂcatiﬂn

[B] Shared interests and values

C] Similar personalities .
{D]] Frequent arguments and conflicts
[E] Unattempted

of the following is not a
factor that can affect cognitive
development in children?

[A] Genetics .

[B] Environmental stimulation

[C] Malnutrition

D] Age
[E) Unattempted

i the following is not a
‘\:k;ﬁcilmaf cause of mental health
issues in adolescence?

[A] Puberty

[B] Stressful life events
[C] Social media use
[D] Lack of exercise

[E] Unattempted

Which

Which of the following is rwt‘a
common parenting practice In
western cultures?

[A] Co-sleeping

[B] Breast feeding

[C] Attachment parenting

|D] Sleep training

[E] Unattempted

What is the most common cause of
waterborne diseases?

[A] Parasites  [B] Bacteria

[C] Viruses [D] Fungi

[E] Unattempted
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88. What type of pollution is responsible
for the majority of cases of
respiratory illness worldwide?

[A] Air pollution

[B] Water pollution

[C] Noise pollution

D] Soil pollution

[E] Unattempted

What is the recommended duration

for washing your hands with soap
and water to effectively remove

89,

germs?
[A] 5 sec [B] 10 sec
[C] 20 sec [D] 30 sec
|[E] Unattempted
90. What is the leading cause of

environmental pollution?
|A] Agricultural waste
[B] Industrial waste

IC] Household waste

[D] Medical waste

[E] Unattempted

91. Which of the following institutions
Is responsible for monitoring and
regulating the safety of food and
drugs in the United States?
[A] CDC [B] FDA
[C] NIH [D] WHO
[E] Unattempted

92, Which of the following is a potential

consequence of exposure to
environmental pollution?

[A] Increased lifespan

[B] Improved respiratory health

[C] Neurological damage

[D] Improved cognitive function
[E] Unattempted

Which of the following is
example of personal hygiene?

I. Wearing clean clothes

II. Cleaning the environment
III. Wasting hands regularly
Choose the correct answer

[A] Tand I  [B] I and I
[C] Only I [D] All of these
[E] Unattempted
T-8/8-B
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94. Which of the following discasf-fspcan
be transmitted through the air

(A] Cholera  [B] Malaria
[C] Tuberculosis[D] Typhoid
[E] Unattempted

95. Which of the following diseases can
be transmitted through contaminated

water?
[A] Influenza [B] Hepatitis A
[C] HIV/AIDS [D] Common cold

[E] Unattempted

96. What is the first step in providing
first aid?
[A] Check for breathing and pulse
[B] Apply pressure to stop bleeding
[C] Check for any broken bones
[D] None of the above
[E] Unattempted

97. Which of the following is an
example of  non-governmental
organisation for healthcare?

[A] International Committee of the
Red Cross

[B] Food and Drug Administration

[C] National Institutes of Health

[D] World Health Assembly

[E] Unattempted

98. Which type of finish adds a glossy
sheen to a fabric surface?
[A] Mercerization|[B] Sanforization
[C] Calendering [D] Bleaching
[E] Unattempted

99. Which fiber is known for its ability
to absorb moisture and keep the
wearer cool and comfortable?

[A] Cotton (B] Nylon
[C] Polyester  [D] Rayon
[E] Unattempted

100. Which type of finish involves

applying a chemical treatment to a
fabric in order to make it wrinkle

resistant?
[A] Sizing [B] Singeing
[C] Starching [D] Resin finishing

[E] Unattempted
T-8/8-B
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